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mean L KI
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mean A K Mean A

3.2 a is
sum ins f sum ite s else

Ee.sisun cost E

FIFA
idea is to take the fast element

out

We can replace recursion iteratilefaster
elegant

Sam i Sum i mt Im sum mtl

this solution is not any
betel minimally

we
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to go through each
element
























































































































becareful we should3 2b Assume 5 0
naui

g
also consider 1 0

ricin
BaseCase

Can we improve
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only computing it once

whenTesplitlike that you need to be very
Careful with the counting
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